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Question : 1 
Statement: 
The police authority cordoned off the entire locality for 
the entire day and stopped all vehicular movement for 
the visit of a top functionary of the government in view 
of the threat perception and advised all the residents 
in the area to limit their movement outside their 
dwellings. 
Assumptions : 
(A) The police personnel may not be able to control the 
vehicular movement in the locality and may seek help 
from the armed forces. 
(B) People living in the locality may move out of their 
houses for the day to avoid inconvenience. 
(C) The Govt functionary may request the police 
authority to lift the ban on the movement of residents 
of the locality outside their dwellings. 
Which  of the  following  assumptions  is/are  implicit  in 
the above statement? 
a) None is implicit 
b) Only (A) is implicit 
c) Only (B) is implicit 
d) Only (C) is implicit 
e) Only (B) and (C) are implicit 
 
 
Question : 2 
Statement: 
The  apex  body  controlling  universities  in  the  country 
has decided to revise the syllabus of all the technical 
courses  to  make  them  focused  towards  the  present 
needs  of  the  industry,  thereby  making  the  technical 
graduates more employable than they are at present. 
Assumptions : 
(A) Technical colleges affiliated to different universities 
may  not welcome  the  apex  body’s  decision  and may 
continue with the same syllabus as at present. 
(B) The industry may welcome the decision of the apex 
body and scale up their hiring from these colleges. 
(C) The Govt may not allow the apex body to 
implement its decision in all the colleges as it may lead 
to chaos. 
Which  of the  following  assumptions  is/are  implicit  in 
the above statement? 
a) None is implicit 

b) Only (A) is implicit 
c) Only (B) is implicit 
d) Only (C) is implicit 
e) Only (A) and (B) are implicit 
 
Question : 3 
Statement: 
Govt has urged all the citizens to use electronic media 
for carrying out their daily activities, whenever 
possible, instead of using paper as the manufacture of 
paper requires the cutting down of a large number of 
trees causing severe damage to the ecosystem. . 
Assumptions : 
(A)  Most  people  may  be  capable  of  using  electronic 
media to carry out various routines. 
(B) Most people may have access to electronic media 
for carrying out their daily routine activities. 
(C)  People  at  large  may  reject  the  govt’s  appeal  and 
continue using paper as before. 
Which  of the  following  assumptions  is/are  implicit  in 
the above statement? 
a) Only (A) is implicit 
b) Only (B) is implicit 
c) Only (A) and (B) are implicit 
d) Only (C) is implicit 
e) None of these 
 
Question : 4 
Statement: 
The Govt has decided to auction construction of 
highways to private entities in several blocks across the 
country on build-operate-transfer basis. 
Assumptions : 
(A)  An  adequate  number  of  private  entities  may  not 
respond to the Government’s auction notification. 
(B) Many private entities in the country are capable of 
constructing highways within a reasonable time. 
(C) The Govt’s proposal of build-operate-transfer may 
financially benefit the private entities. 
Which  of the  following  assumptions  is/are  implicit  in 
the above statement? 
a) Only (A) and (B) are implicit 
b) Only (B) and (C) are implicit 
c) Only (B) is implicit 
d) Only (A) and (C) are implicit 
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e) None of these 
 
Question : 5 
Statement: 
The airlines have requested all their bona fide 
passengers  to  check  the  status  of  flight  operations 
before  leaving  their  homes  as  heavy  fog  is  causing 
immense problems to normal flight operations. . 
Assumptions : 
(A) Majority of the air passengers may check the flight 
status before starting their journey to the airport. 
(A) The Govt may take serious objection to the notice 
issued by the airline company. 
(A) Majority of the passengers may cancel their tickets 
and postpone their journey till the situation becomes 
normal. 
Which  of the  following  assumptions  is/are  implicit  in 
the above statement? 
a) None is implicit 
b) Only (A) is implicit 
c) Only (B) is implicit 
d) Only (C) is implicit 
e) Only (A) and (C) are implicit 
 
Question : 6 
Statement: 
The  residents  of  the  locality  wrote  a  letter  to  the 
Corporation requesting to restore normalcy in the 
supply of drinking water immediately as the supply at 
present is just not adequate. 
Assumptions: 
I.  The  Corporation  may  not  take  any  action  on  the 
letter. 
II. The municipality do not have enough water to meet 
the demand. 
III. The water supply to the area was adequate in the 
past. 
a) Only I and III are implicit 
b) Only II and III are implicit 
c) Only II is implicit 
d) Only III is implicit 
 
Question : 7 
Statement: 

“Why are you looking sad? Did you not get bonus this 
year also”? 
— Mr X says to Mr Y 
Assumptions: 
I. Mr X is the well-wisher of Mr Y. 
II. Expression of sadness on one’s face is a sign of one’s 
financial crunch. 
III. If one gets bonus, one does not remain sad. 
 
a) All 
b) Only I 
c) Only I and II 
d) Only II and III 
e) None of these 
 
Question : 8 
Statement: 
All  the  single-screen  theatre  halls  in  the  city  have 
declared  indefinite strike and  have  warned  that they 
will not withdraw strike unless the government accepts 
their demand of reducing entertainment tax to 50% of 
the present level and also treat these halls at par with 
multi-screen halls on all the relevant matters. 
Assumptions: 
I. The employees of all the cinema halls may disagree 
with the management and may appeal to the 
government to declare the strike illegal. 
II. The government may accept all the demands of the 
striking  cinema  halls  to  avoid  any  backlash  from  the 
public. 
III.  The  general  public  may  support  the  cause  of  the 
cinema hall owners and put pressure on the 
government to accept their demands. 
 
a) None is implicit 
b) Only I is implicit 
c) Only III is implicit 
d) Only II is implicit 
e) All are implicit 
 
 
Question : 9 
Statement: 
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“The return of country X as a full-fledged member of 
the Commonwealth is dependent on the ‘credibility’ of 
the election which will be in process next year.” 
— Head of Commonwealth Observers’ Group (COG). 
Assumptions: 
I. ‘Credibility’ of the election process can be measured 
in tangible terms. 
II.  Election process in country X always remains  a 
matter of debate for the world community. 
III. World community has a common desire to restore 
democracy and its ethics all over the world. 
 
a) All I, II and II 
b) None 
c) Only I 
d) Only II 
e) None of these 
 
Question : 10 
Statement: 
The Government of India has set up onestop facilitation 
counters  manned  by  trained  staff  to  attend  to  the 
various needs of the foreign tourists at all the 
international airports. 
Assumptions: 
I.  There  are  adequate  trained  staff  available  to  man 
these counters in shifts. 
II.  The  services  provided  by  these  counters  will  help 
boost inflow of foreign tourists. 
III.  Majority  of  the  foreign  tourists  need  variety  of 
services when they reach India. 
 
a) Only I and II are implicit 
b) Only II and III are implicit 
c) Only III is implicit 
d) All are implicit 
e) None of these 
 
 
Question : 11 
Statement: 
The high court of  state ‘X’ has directed the state 
government  ‘X’  to  issue  a  notification  making  speed 
governors compulsory for all four-wheelers in the city 
to check high-speed driving. 

Assumptions: 
I. Speed governors will put an end to accidents. 
II. Speed governors will help in reducing the 
possibilities of road accidents. 
III. High speed of vehicles on the road causes accidents. 
 
a) Only I 
b) Only I and II 
c) Only II and III 
d) Only I and III 
e) None of these 
 
Question : 12 
Statement: 
“Bar  Council  of  India  (BCI)  has  decided  to  go  on  a 
hunger  strike  to  protest  the  implementation  of  the 
Legal Services Authority (Amendment) Act.” 
— Chairman of BCI 
Assumptions: 
I. The amendment has several loopholes and is bound 
to hurt the litigants’ interests. 
II. All the members of BCI will welcome the decision. 
III. The hunger strike held in front of the court will put 
a pressure on the respective authority. 
 
a) Only I 
b) Only I and II 
c) Only I and III 
d) All I, II and III 
e) None of these 
 
Question : 13 
Statement: 
Mandatory  verification  of  identity  before  acquiring  a 
prepaid cellular connection is taking a toll on numbers. 
— CEO of a cellular company 
Assumptions: 
I.  Lesser  subscribers  have  joined  due  to  decrease  in 
subscription rate. 
II. Unnecessary delay as well as red-tapism discourages 
consumer’s appetite. 
III.  Holders  of  cellulars  do  not  want  to  reveal  their 
identity. 
 
a) Only I and II 
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b) Only II and III 
c) Only I and III 
d) None 
e) None of these 
 
 
Question : 14 
Statement: 
“We  must  select  educators  and  not  academics.  They 
should have the ability to teach in the canteen or even 
at bus stop!” 
— Mr X 
Assumptions: 
I. Teaching is an art. It asks for a thorough knowledge 
of the subject as well as the ability to put across that 
knowledge to others. 
II. The skills required in transmitting knowledge are, at 
times, quite different from a person’s receiving skills. 
III. It is not necessarily true that a good student will also 
be a good teacher. 
 
a) Only I 
b) Only I and III 
c) Only II and III 
d) All 
e) None of these 
 
Question : 15 
Statement: 
“Our school provides all facilities like school bus 
service, computer training, sports facilities. it also gives 
opportunity  to  participate  in  various  extra-curricular 
activities apart from studies.” - An advertisement by a 
public school. 
Assumptions: 
I.  Nowadays  extra-curricular  activities  assume  more 
importance than studies. 
II. Many parents would like to send their children to the 
school as it provides all the facilities. 
III. Overall care of the child has become the need of the 
time as many women are working. 
 
a) Only I is implicit 
b) Only II is implicit 
c) Only I and II are implicit 

d) All I, II and III are implicit 
e) None of these 
 
Question : 16 
Statement: 
Move into the upper echelons without paying a steep 
price. Book a luxurious flat with us. 
— Advt. of a construction company for its prestigious 
project 
Assumptions: 
I. It is possible to join the select band of rich people by 
hard work. 
II.  Staying  in  luxury  without  paying  steep  price  is  the 
criterion of upper crust of society. 
III. Booking a luxurious flat is very easy now. 
 
a) Only II 
b) Only III 
c) Only II and III 
d) None 
e) None of these 
 
Question : 17 
Statement: 
“The Indian Meteorological Department has proposed 
to  hold  a  brainstorming  session  of  weather  experts 
next month to try and study the causes for the failure 
of the just-concluded summer monsoon in the 
country.” 
—Spokesperson of Indian Meteorological Department 
Assumptions: 
I.  The  behaviour of  the  just-concluded monsoon  was 
intriguing. 
II.  Thorough  scientific  investigation  is  likely  to  reveal 
the causes of failure of the monsoon. 
III. Brainstorming sessions organised in the past didn’t 
prove fruitful. 
 
a) All I, II and III 
b) None 
c) Only II 
d) Only I and II 
e) None of these 
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Question : 18 
Statement: 
For realising a 7% GDP growth rate, we would need our 
gross investments to increase to 28- 30 per cent. This is 
not a tall order. 
Assumptions: 
I. 7% GDP growth rate seems to be a far cry. 
II. The more you invest, the better the GDP growth. 
III. The GDP growth rate is the indicator of a nation’s 
development. 
 
a) Only I 
b) All the three 
c) Only II 
d) Only II and III 
e) Only III 
 
 
Question : 19 
Statement: 
The  university  authority  has  decided  to  decentralise 
conduct of terminal examinations and give this 
responsibility to each college for its students to avoid 
delay in declaration of results. 
Assumptions: 
I. The colleges are equipped to carry out this 
responsibility. 
II. There may not be uniformity in evaluation standard 
across the colleges. 
III. The students may welcome this new development. 
 
a) None is implicit 
b) Only II and III are implicit 
c) Only I and II are implicit 
d) Only I and III are implicit 
e) None of these 
 
 
Question : 20 
Statement: 
“You should be very careful so that the society does not 
adversely comment on the police leadership.” 
—  A  statement  made  by  a  CBI  officer  to  the  newly 
recruited young officers 
Assumptions: 

I. The society always indulge in adverse comments 
II.  People’s  trust  in  the  police  force  is  not  up  to  the 
desired level. 
III. Society has the efficiency to judge accurately about 
the police leadership. 
 
a) Only I and II 
b) Only II and III 
c) Only I and III 
d) None 
e) None of these 
 
 
Question : 21 
Statement: 
“You should publish the names of the ten worst 
colleges  or  institutions,  which  will  lead  to  an  overall 
improvement of Indian institutes.” 
—  Request  of  a  reader  to  the  editor  of  a  weekly 
magazine. 
Assumptions: 
I. The management and administrators of the 
respective institutes will come under pressure and will 
be compelled to improve the condition of the institutes 
if  the  names  of  the  institutes  are  published  in  the 
weekly magazine. 
II. The move will be helpful for admission-seekers from 
being a victim of degraded standard of the institutions. 
III. The editor may concede the request and take 
positive steps in this regard. 
 
a) Only I and II 
b) Only II and III 
c) Only I and III 
d) All I, II and III 
e) None of these 
 
Question : 22 
Statement: 
“Performing  complex  mental  tasks  whilst  driving  is 
dangerous.” 
— A psychologist 
Assumptions: 
I. Thinking too much reduces the ability to spot 
potential problems and react to them safely. 
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II.  Handsfree  phone  conversations  are  as  safe—or  as 
risky — as talking to a passenger, depending upon the 
demands of conversation. 
III. Insecurity of humans is a man-made problem. 
 
a) Only I and II 
b) Only II and III 
c) Only I and III 
d) All I, II and III 
e) None of these 
 
Question : 23 
Statement: 
The  civic  authority  has  decided  that  all  the  factories 
located inside the city limit be shifted outside to reduce 
the level of environmental pollution in the city. 
Assumptions: 
I. The pollution level in the city in future may reduce 
after these factories are shifted outside the city limit. 
II. Enough usable land is available outside the city limit 
for these factories. 
III.  Many  of  these  factories  may  shift  to  some  other 
smaller town to remain profitable. 
 
a) Only I is implicit 
b) Only I and II are implicit 
c) Only II is implicit 
d) Only II and III are implicit 
e) None of these 
 
Question : 24 
Statement: 
“An asteroid which burned up in the earth’s 
atmosphere  in  June  could  have  triggered  a  mistaken 
nuclear war between India and Pakistan had it 
detonated over South Asia.” 
— Statement of Mr X in a report in The New York Times. 
Assumptions: 
I. India and Pakistan are equipped with nuclear 
weapons. 
II.  Neither  India  nor  Pakistan  had  the  sophisticated 
sensors that could determine the difference between a 
natural NEO (near-earth object) impact and a nuclear 
detonation. 

III. India and Pakistan have no good relationship with 
each other. 
 
a) Only I 
b) Only I and II 
c) Only II and III 
d) Only I and III 
e) All I, II and III 
 
Question : 25 
Statement: 
“City ‘X’ should have more women driving public 
transport because most do not like to speed 
unnecessarily, prefer not to talk on mobiles while 
driving, do not listen to blaring music and rarely skip 
red lights.” 
— A minister of state X 
Assumptions: 
I. More women driving buses and autos will usher more 
job opportunities for women. 
II. Women are more disciplined than men on the roads. 
III.  If  women  start  driving  buses  and  autos  it  would 
increase chances of safety for commuters. 
 
a) Only I and II 
b) Only II and III 
c) Only I and III 
d) All I, II and III 
e) None of these 
 
 
Question : 26 
Statement: 
“Graduates with first-class are eligible to apply for the 
admission to MBA courses in our Institute”. - An 
advertisement by a Management Institute. 
Assumptions: 
I. Only those who are first-class graduates can cope up 
with the studies for MBA courses. 
II.  There  are  plenty  of  first  class  graduates  who  are 
likely to apply for admission to MBA. 
III. The reputation of the Institute may get affected if 
students having less than first class are admitted. 
 
a) Only I is implicit 
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b) Only II is implicit 
c) Only III is implicit 
d) Only I and II are implicit 
e) All I, II and III are implicit 
 
Question : 27 
Statement: 
“If you did not have a mobile connection of MTNL you 
will feel a jolt when you come to know about a unique, 
free incoming facility from 10 PM to 8 AM, without any 
condition, for any network.” 
— X tells Y 
Assumptions: 
I. X knows about the facilities provided by other mobile 
services. 
II. X wants Y to be a subscriber of MTNL mobile services. 
III.  People  like  free  incoming  facilities  without  any 
condition. 
 
a) Only I 
b) Only I and II 
c) Only II and III 
d) Only I and III 
e) None of these 
 
Question : 28 
Statement: 
A one-day token strike was called by the employees in 
Government organisations to protest against 
privatization of profit-making Public Sector 
Undertakings.” 
Assumptions: 
I. The Government may favourably consider the views 
of the employees. 
II.  Strike  is  the  most  popular  tool  used  by  people  to 
protest. 
III. The strike may bring pressure on the Government, 
forcing them to reconsider the decision. 
 
a) Only I is implicit 
b) Only II is implicit 
c) Only I and III are implicit 
d) All I, II and III are implicit 
e) None of these 
 

Question : 29 
Statement: 
Efforts  to  develop  technologies  more  appropriate  to 
the needs of the poorest sections of society need to be 
further intensified. 
Assumptions: 
I. Nothing is impossible if proper efforts are made. 
II. Technology needs are different for different sections 
of society. 
III.  It  is  possible  to  develop  appropriate  technologies 
for various economic sections of the society. 
 
a) Only I 
b) Only III 
c) Only II 
d) Both II and III 
e) None of these 
 
Question : 30 
Statement: 
India’s economic growth has come at a terrible price of 
increased industrial and vehicular pollution. 
Assumptions: 
I. Pollution is a part of industrial society. 
II. Indian economic growth is based on only industrial 
growth. 
III. A country desires economic growth with 
manageable side-effects. 
 
a) Only I 
b) Only II 
c) Only I and III 
d) Only III 
e) None of these 
 
Question : 31 
Statement: 
“Buy a variety of items from our shop and get upto 20% 
discount.” - An advertisement 
Assumptions: 
I. Many people will visit the shop to get the benefit of 
discount. 
II. Customers may go to some other shop if the 
discount is not offered. 
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III. Offering discount is the best way to attract 
customers. 
 
a) Only I is implicit 
b) Only II is implicit 
c) Only III is implicit 
d) Only I and II are implicit 
e) None of these 
 
Question : 32 
Statement: 
“A court can convict an accused solely on the basis of a 
dying declaration but such a declaration should be free 
from any doubt and the victim making the statement 
should be mentally fit.” 
— Supreme Court 
Assumptions: 
I. One who is not mentally fit always makes statements 
untrustworthy in nature. 
II. Declaration made by the dying person is likely to be 
true. 
III. It is possible to distinguish whether a declaration is 
dubious or not. 
 
a) Only I 
b) Only I and II 
c) Only II and III 
d) Only III 
e) None of these 
 
Question : 33 
Statement: 
“We have the distinction of being the only company in 
India as well as the second in the world to have won an 
ISO 9002 quality certification in our line of business”- 
Statement of company X’s Chairman. 
Assumptions: 
I. There were not many companies in the line of 
business of Company ‘X’. 
II. Getting ISO 9002 in the line of business of Company 
‘X’ is not easy. 
III. The company ‘X’ desires to expand its business. 
 
a) Only I 
b) Only II 

c) Only III 
d) Only II and III 
e) None of these 
 
Question : 34 
Statement: 
“Some  lessons  from  Israel,  especially  in  the  field  of 
curbing terrorism, would be relevant to us.” 
— Defence Minister of India. 
Assumptions: 
I.  Israel  has  a  good  strategy  and  a  better  facility  to 
counter terrorism. 
II. Israel has a bitter experience of countering 
terrorism. 
III. Israel and India have inherited a lot of commonness 
in terms of land, people and society. 
 
a) Only I and II 
b) Only I and III 
c) Only II and III 
d) Only II 
e) None of these 
 
Question : 35 
Statement: 
The  ‘licence  raj’  might  have  been  vanquished  by  the 
reforms but ‘inspector raj’ is thriving. 
Assumptions: 
I. The ‘licence raj’ is the same as the ‘inspector raj’. 
II. The reforms should have put an end to the ‘licence 
raj’. 
III. The ‘inspector raj’ is a menace. 
 
a) None 
b) All the three 
c) Only I and III 
d) Only II and III 
e) Only III 
 
Question : 36 
Statement: 
“We believe that the adjustment that has already taken 
place in the value of the rupee is adequate. There is no 
ground for a further weakening of the rupee.” 
— RBI governor 
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Assumptions: 
I. The value of the rupee has depreciated recently. 
II. Dollar-buying has been on the rise. 
III. Currencies do not fall after a certain level. 
 
a) None 
b) Only III 
c) Only I and III 
d) Only II 
e) Only I and II 
 
Question : 37 
Statement: 
The World Food Summit in Rome was on the verge of 
becoming  a  fiasco  on  its  opening  day  when  western 
countries stayed away, prompting accuslations of 
indifference to the fate of the malnourished and 
starving people because the third world countries send 
civil servants and ministers rather than prime ministers 
and presidents. 
Assumptions: 
I.  Prime  ministers  and  presidents  are  more  efficient 
than civil servants and ministers. 
II.  Prime ministers  and  presidents  enjoy more  power 
than civil servants and ministers. 
III. A meaningful outcome can be obtained only when 
the real powers attend a summit. 
 
a) Only I and II 
b) Only II and III 
c) Only I and III 
d) None 
e) None of these 
 
Question : 38 
Statement: 
“The ‘X’ state cabinet endorsed our proposal to stagger 
shopping timing by allowing markets to remain open til 
10 PM to make it more dynamic.” 
— A leader of traders 
Assumptions: 
I. If it is taken well by traders, the state government will 
permanently  alter  the  closing  time  for  all  prominent 
markets in the city. 

II. There is a need to boost the commercial activities in 
the city. 
III. Keeping the market open longer is likely to enhance 
sales as well as making shopping more convenient for 
people with late working hours. 
 
a) Only I 
b) Only I and II 
c) Only II and III 
d) Only I and III 
e) None of these 
 
Question : 39 
Statement: 
The  board  of  directors  of  ‘X’  coaching  institute  —  a 
premier coaching institute — has decided to charge a 
fixed  amount  of  Rs  10,000/month  from  each  of  its 
franchisees in urban area and Rs 5000/month in rural 
area. 
Assumptions: 
I. Profits gained by franchisees in urban area differ from 
that in rural areas. 
II. Franchisees will be able to pay the respective 
charges according to the respective categories. 
III. It is feasible to expand branches and control them 
by fixing a target. 
 
a) Only I 
b) Only II 
c) Only I and II 
d) Only III 
e) None of these 
 
 
Question : 40 
Statement: 
“Why  are  only  highprofile  people  considered  to  be 
adventurous? The villagers in India, who have no buses, 
walk barefoot for miles on dusty, untarred roads. Isn’t 
that more adventurous than rafting or gliding?” 
— View of a person 
Assumptions: 
I. It is a Herculean task to walk barefoot for miles on 
dusty untarred roads. 
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II.  Rafting  and  gliding  are  considered  adventurous  by 
the people. 
III. Walking barefoot for miles on dusty untarred roads 
is not considered adventurous by the people. 
 
a) Only I and II 
b) Only II and III 
c) Only I and III 
d) All I, II and III 
e) None of these 
 
 
Question : 41 
Statement: 
“The municipal corporation of the city is granting 
permission to builders for new construction of high-rise 
buildings in the city, despite the appeal from the 
environmentalists to avoid overcrowding.” 
Assumptions: 
I. The corporation will take care to fulfil the minimum 
requirements  providing  infrastructure  in  the  area  for 
the newly constructed building. 
II.  Corporation  is  expecting  good  earnings  by  way  of 
taxes from the high-rise buildings. 
III. The corporation has taken the residents of the area 
into confidence and assured them of no inconvenience 
to them due to new construction. 
 
a) Only I is implicit 
b) Only II is implicit 
c) Only III is implicit 
d) Only I and II are implicit 
e) None of these 
 
Question : 42 
Statement: 
“Every  successful  person  who  claims  to  have  come 
from a village has achieved success after he or she left 
the village.” 
— A leader of party X 
Assumptions: 
I. The average Indian village is a place with little capital, 
low technology and limited market access. 
II. Opportunity for growth is more in metro cities. 
III. Opportunities for growth are scarce in villages. 

 
a) All I, II and III 
b) Only I and III 
c) Only II and III 
d) Only I and II 
e) None of these 
 
Question : 43 
Statement: 
The employees’ association has appealed to the 
Managers of Company ‘S’ to introduce written 
examination for Clerical cadre recruitment to prevent 
selection of incompetent persons. 
Assumptions: 
I.  So  far  the  Company  ‘S’  used  to  select  candidates 
without conducting a written examination. 
II. A written examination can help to identify 
competent persons. 
III. At higher level written examination may not be of 
much use. 
 
a) Only I and II 
b) Only II and III 
c) Only III 
d) Only I and III 
e) None of these 
 
Question : 44 
Statement: 
“Most schools in India continue to be teacher-driven, 
where students have little participation in the learning 
process. There is no response to societal changes that 
have been induced by globalisation, developments in 
communications, networking and technology.” 
— A criticism made by Mr X 
Assumptions: 
I. True education means greater participation of 
students and congruence with societal changes. 
II. Education can’t be obtained by assuming teacher as 
the only source. 
III. It is desirable that education be imparted by 
considering  those  factors  in  mind  which  are  in  tune 
with the needs of the student. 
 
a) Only I 
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b) Only II 
c) Both I and II 
d) Both II and III 
e) None of these 
 
Question : 45 
Statement: 
"We must be prepared to face any eventuality and all 
the assignments must be completed as per their 
schedule"-Director tells the Faculty members. 
Assumptions: 
I. There is possibility of a serious eventuality. 
II. Dates are fixed for all the assignments. 
III. Faculty members are supposed to complete all the 
assignments. 
 
a) Only I is implicit 
b) Only III is implicit 
c) None is implicit 
d) All are implicit 
 
 
Question : 46 
Statement: 
“A rare opportunity to be a professional while you are 
at home.” 
— An advertisement for computer-literate housewives 
by a computer company 
Assumptions: 
I. Some housewives simultaneously desire to become 
professional. 
II. Computer industry is growing at a fast pace. 
III.  It  is  possible  to  be  a  professional  as  well  as  a 
housewife. 
 
a) Only I and II 
b) Only II and III 
c) Only I and III 
d) Only II 
e) None of these 
 
Question : 47 
Statement: 
“Though party A is firm on the ouster of party B, it is 
unlikely to reap any benefit from it.” 

— a political observer 
Assumptions: 
I. Party A expects to benefit from the ouster of party B. 
II. Politics is a game of manoeuvring and manipulations. 
III. The political scenario is peaceful. 
 
a) Only I 
b) Only II 
c) Only III 
d) All the three 
e) None of these 
 
Question : 48 
Statement: 
“Let us enter into a deal with company Y to come out 
of our financial crisis.” 
— Company X 
Assumptions: 
I.  Company  Y  can  bail  company  X  out  of  its  financial 
crisis. 
II. Two companies can enter into a deal. 
III. Company Y is financially sound. 
 
a) Only II and III 
b) Only II 
c) Only I and III 
d) Only III 
e) None of these 
 
 
Question : 49 
Statement: 
“Today  I am rejecting your proposal to play a cricket 
match against your team because of absence of Mr Z 
but tomorrow I am ready to play against your team at 
any cost.” 
— Mr X says to Mr Y 
Assumptions: 
I. Mr Z will be available tomorrow. 
II. Match will be played tomorrow irrespective of 
availability of Mr. Z. 
III.  Mr  Y  will  be  ready  to  play  a  match  against  Mr  X 
tomorrow. 
 
a) All I, II and III 
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b) Either I or II and III 
c) Only II and III 
d) Only I and III 
e) None of these 
 
Question : 50 
Statement: 
The  ‘X’  car  manufacturing  company  has  decided  to 
increase  price  of  the  cars  in  A,  B  and  C  segments 
ranging from 5% to 10% with immediate effect as the 
steel prices have risen considerably in the recent past. 
Assumptions: 
I. The prices of cars other than in A, B and C segments 
are already very high and need not be increased. 
II.  The  rival  car  manufacturing  companies  may  also 
increase the prices of cars in these segments. 
III. There may be adequate demand in the market of 
the cars in these segments even after the price hike. 
 
a) Only I is implicit 
b) Only II is implicit 
c) Only III is implicit 
d) Both I and III are implicit 
e) All are implicit 
 
Question : 51 
Statement: 
Non-Brahmin well-versed with rituals, could be 
appointed as a pujari as well. 
— Ruling of Supreme Court. 
Assumptions: 
I.  Brahmins  don’t  have  a  monopoly  over  performing 
puja in a temple. 
II. Mere eligibility for a post is enough to lay claim to 
the candidatureship for the post. 
III. People will comply with the verdict given by SC. 
 
a) All I, II and III 
b) Only I and II 
c) Only II and III 
d) Only I and III 
e) None of these 
 
Question : 52 
Statement: 

“Addictive  ‘gutka’  and  ‘paan  masala’ with or  without 
tobacco has been banned from Aug 1, 2002 in 
Maharashtra, where even school and college students 
were increasingly becoming their consumers.” 
— A court notice 
Assumptions: 
I. Some of the ‘gutka’ manufacturers may not abide by 
the court’s directions. 
II. School children and college students are vulnerable 
to gutka. 
III. Consumers as well as manufacturers of ‘gutka’ will 
abide by the court’s directions. 
 
a) Only II 
b) Either I or III and II 
c) Either I or III only 
d) Only II and III 
e) None of these 
 
Question : 53 
Statement: 
Hurdles in restoring security in travelling through train 
will be removed by the railway ministry and travelling 
by train will once again be perceived as safe. 
Assumptions: 
I. The railway ministry has created hurdles in travellers’ 
security. 
II. Today travelling by train is not considered safe. 
III. It is possible to make train journey safe. 
 
a) Only I and II 
b) Only II and III 
c) Only I and III 
d) All I, II and III 
e) None of these 
 
Question : 54 
Statement: 
“If we really want to reduce the menace of smoking, we 
need  to  reflect our  intention  through  our  deeds,  our 
creations such as movies, in which incidence of 
smoking is shown much higher than the actual 
cigarette consumption among the Indian population.” 
— View of Mr X. 
Assumptions: 
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I.  There  is  a  strong  link  between  films  and  viewers’ 
behaviour. 
II. Smoking shown in movies results in corresponding 
increase in smoking among the public. 
III.  Menace  of  smoking  can  be  reduced  by  proper 
planning followed by appropriate efforts. 
 
a) Only I 
b) Only II 
c) Only II and III 
d) Only I and III 
e) All I, II and III 
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